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Solving for the Unknown Value
Answer Key

The Division of Water Quality
makes no claim as the accuracy of
any answers provided herein.
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1.

2.

19,747 = (20) (12) (x) (7.48)

= 12957

~

X
33T« = VL%
X = L—‘r C} Cﬁ
X .
= 21
(4.5) (8.34) 3
% = 7393.%
X = :/_q("\") q
‘24—6 =24
X =  59o0.y4
Yx = 50.u
(x) (0.18) (8.34)

T (63) (1.3) (8.34)

-
.o ®w =

L12%.3%
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PRACTICE PROBLEMS 2.1: Solving for x —The Basics

O Solve forx in the problems given below.

6.

10.

(3000) (3.6) (8.34)

1%9.3%F « =

109

= 23.4
(0.783) (x)

90,072

x=_.903. 72

X
~(0.785) (80) (30)

% = ORI L

17

X = Su2 i,

(x) (3.7) (8.34) = 3620

30.%0 v = 3620

x = _50% 029

050 - (1719242 8.34)
=7 T T1980) (x) (8.34)

Tiur. 7

i~ = 3’.13\0"?:
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PRACTICE PROBLEMS
1. (0.785) (D?) =5024 4. (0.783) (D?) =0.54
T SOy 1 Q.54
Vo= SHEX RN N TS
D= __%0 D= O.%3
2 -
2. (x2) (10) (7.48) = 10,7712 5. 21 = OT8ND]) U2 T48)
(0.785) (80) (80)
TUS wT = 10,7712 .
DH.0% D" = 10,504y
X = | 2 D=_10.9Y4
3. 5 - 64,000
(0.785) (D?%)
Loou D> = Luooo

D = 395

e e e e o+ = p——— | Y—— T Ty W Y BT ety T
"
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PRACTICE PROBLEMS 2.3: Addition and Subtraction Problems

QO Find the value of x in the problems given below.

1. 67 = x+09 4. 19+x—-14 = 16+3
. o
« = (.72 —0.9 S 3
2. 16+x +18+42 = 121 5 82+50-x = 109
FL+ o = A2 132 - x = 109
X = ) x=_213

[N
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PRACTICE PROBLEMS 2.4: Solving for x—Advanced Problems

1. 4x+15 = 433

v o= ug
2, (6+1) (4) =3
2
1L+ 2x = 32
X = | ©
5 0051 = 2150+792
' x + 28,540

Q.01 x + U35 5y

X = 1CFIM(,'Z,7'.~

X+ 940

4. 0.048 =

V5.0 = x = 9uo

X = 9+5.2
0+5 0 _ .
2
Ty = 35

19,410 + 20,490

6. 16920) (8.34) (x) + (4610) (8.34) (0.07) 93

-

57,800 + 38,120

5'?’??‘7.<\3X - 2(JQ"3’L = Zlqu'szq
7 (2610) (0.44) (8.34) s
(5800) (x) (3.34) + (20) (1.6) (8.34) "
JIL,LE0OH « + L /S%UL = 9I5F7 .00
x=_Q0%

g (6620) (8.34) (0.04) + (4480) (8.34) (0.065)
58,100 + x B

0.0% x = L3ILY = Y$(33.0Y

)

41

x=_57%tl

g (&+35.5)(.5)(145) = 3426

o

TESDFS <« + 1395.025 = 34

(12,400) (0.95) (8.34) .
(6100) (0.032) (8.34) + (x) (1.95) (8.34)

Hge S — (17,99 s = J% 2482

x= SL3I.FL

(1.0%






